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NEW QUESTION 1
Refer to the exhibit.

What must be the default gateway of the servers in EPG Web?

A. subnet address of BD1
B. subnet address of L3Out
C. subnet address of BD2
D. NAT appliance

Answer: D

NEW QUESTION 2
Which protocol prevents fiber failures from causing a Layer 2 loop in a dark fiber DCI?

A. BFD
B. UDLD
C. MCP
D. LLDP

Answer: B

NEW QUESTION 3
Where does Cisco UCS handle Fibre Channel traffic failover?

A. on a Cisco UCS Fabric Interconnect ASIC in Fibre Channel switching mode
B. on the host, by using multipathing software
C. in the hardware on the Cisco UCS VIC 12xx adapter or later
D. in the hardware on any Cisco UCS VIC adapter

Answer: B

NEW QUESTION 4
Which two types of service profile templates does Cisco UCS support? (Choose two.)

A. initial
B. permanent
C. updating
D. temporary
E. connected

Answer: AC

NEW QUESTION 5
What is an advantage of Cisco HyperFlex Edge as compared to Cisco HyperFlex Standard Clusters?

A. Cisco Intersight automatically creates an invisible cloud witness.
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B. Cisco UCS 5108 Blade Server chassis provides SEEPROM connectivity to solve split-brain scenarios.
C. Cisco UCS Manager provides service profile portability across nodes.
D. Cisco HyperFlex Edge provides native container support through the KVM hypervisor.

Answer: A

NEW QUESTION 6
A failure occurs on the network between two BFD and OSPF neighbors. Drag and drop the protocol actions from the left into the correct order on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 7
What is the disadvantage of asynchronous storage replication as compared to synchronous storage replication in a disaster recovery design?

A. reduction in application performance
B. distance limitations
C. specific backup requirements
D. potential data loss

Answer: D

NEW QUESTION 8
The management of the Cisco Nexus switches is provided over an isolated put-of-band network. The VDC feature is configured on the Cisco Nexus core switches.
How is out-of-band management access provided for each VDC?

A. All the VDC have the same out-of-band IP address.
B. Each VDC has a dedicated out-of-band Ethernet management port.
C. Each VDC has a unique out-of-band IP address from the same IP subnet.
D. Each VDC has a unique out-of-band IP address from different IP subnets among VDCs.

Answer: C

NEW QUESTION 9
Which two configuration methods can be used to deploy QoS to Cisco MDS Series switches? (Choose two.)

A. zone-based QoS
B. multiple QoS policies that match individual devices
C. VSAN-based QoS
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D. FCoE VLAN-based QoS
E. multiple QoS policies that match multiple devices

Answer: AC

NEW QUESTION 10
Which type of encoding is used on 8-Gbps links as compared to 10-Gbps links?

A. 8-Gbps links use 64B/66B encoding, and 10-Gbps links use 8B/10B encoding.
B. 8-Gbps links use 8B/10B encoding, and 10-Gbps links use 64B/66B encoding.
C. 8-Gbps links and 10-Gbps links use 8B/10B encoding.
D. 8-Gbps links and 10-Gbps links use 64B/66B encoding.

Answer: B

NEW QUESTION 10
Which feature must be configured to connect a classical Ethernet network to a data center network so that the data center network appears to be one large switch.

A. VPC+
B. UDLD
C. EVPN
D. OSPF

Answer: C

NEW QUESTION 15
Drag and drop the Cisco Nexus 7000 Series Switch resources from the left onto the correct groups on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 20
Drag and drop the configurations from the left onto the correct policies on the right.

A. Mastered
B. Not Mastered

Answer: A
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Explanation: 

NEW QUESTION 21
Drag and drop the data center technologies from the left onto the correct descriptions on the right. Not all technologies are used.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 23
What are two reasons to select OTV as the DCI solution to connect multisite topologies? (Choose two.)

A. It propagates hosts reachability without support of traffic flooding.
B. Layer 3 failures do not propagate beyond the OTV edge device.
C. It extends the spanning tree between data centers.
D. It is an open standard.
E. It constrains HSRP hello messages to each data center.
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Answer: BC

NEW QUESTION 28
Drag and drop the components from the left onto the descriptions on the right that indicate what occurs to Fibre Channel fabric when that component fails.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 31
Which Ethernet to Cisco Fabric Interconnect connectivity configuration is supported when FCoE is implemented?

A. VSS that has unified uplinks
B. Ethernet and unified ports on the same port channel
C. vPC that has unified uplinks
D. cross-connections with pinning

Answer: C

NEW QUESTION 36
Which two statements describe Ethernet switching mode on Cisco UCS 6100 Series Fabric Interconnects? (Choose two.)

A. STP runs on the uplink ports of each VLAN, as defined by PVSTP+.
B. STP runs on the uplink ports of each VLAN, as defined by MSTP.
C. The STP parameter configuration is unsupported.
D. The STP parameter configuration is supported.
E. STP runs on the server ports.

Answer: AC

NEW QUESTION 37
Which Cisco HyperFlex feature provides virtual machine-level cost scaling for desktop virtualization growth?

A. HyperFlex Edge support
B. encryption offload cards
C. dedicated compute nodes
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D. fabric interconnects

Answer: A

NEW QUESTION 40
Which two configurations are available by using a service profile template in Cisco UCS Manager? (Choose two.)

A. number of vHBAs
B. ARP entries
C. UUID assignment
D. VXLAN membership
E. target server

Answer: AC

NEW QUESTION 45
What are two advantages of using Cisco vPC over traditional access layer designs? (Choose two.)

A. supports Layer 3 port channels
B. disables spanning-tree
C. no spanning-tree blocked ports
D. uses all available uplink bandwidth
E. maintains single control plane

Answer: CD

NEW QUESTION 47
Which two features are provided by deploying an OOB management network in a Cisco Nexus data center? (Choose two.)

A. Layer 3 path for monitoring purposes
B. Layer 2 path for server traffic
C. Layer 2 path for a vPC peer link
D. Layer 3 path for vPC keepalive packets
E. Layer 3 path for server traffic

Answer: BC

NEW QUESTION 48
When planning to deploy a load-balancing service as a managed node, which ACI configuration must be included?

A. BGP ECMP
B. Layer 4 to Layer 7 device package
C. inline load-balancing device
D. ITD

Answer: B

NEW QUESTION 52
Which multicast rendezvous point redundancy mode is valid for Bidirectional PIM?

A. Embedded RP
B. Phantom RP
C. MSDP
D. PIM anycast RP

Answer: D

NEW QUESTION 53
An engineer deploys LISP VM mobility. Which feature is configured on the interfaces that have VM mobility enabled?

A. IP redirects
B. flow control
C. proxy ARP
D. HSRP

Answer: C

NEW QUESTION 54
What is a design consideration when implementing FSPF?

A. Routes are based on the domain ID.
B. Routes are based on the distance vector protocol.
C. FSPF runs only on F Ports.
D. FSPF runs on a per-chassis basis.
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Answer: A

NEW QUESTION 59
Which two vSphere features must be included in the design of a Cisco HyperFlex systems stretched cluster? (Choose two.)

A. HA
B. VSS
C. FT
D. VDP
E. DRS

Answer: AE

NEW QUESTION 62
Which two configurations allow for routing traffic between two VDCs? (Choose two.)

A. Connect the VDCs to an external Layer 3 device.
B. Cross-connect the ports between the VDCs.
C. Create VRF-aware software infrastructure interfaces.
D. Create a policy map in the default VDC that routes traffic between the VDCs.
E. Create interfaces in the VDC that can be accessed by another VDC.

Answer: AD

NEW QUESTION 64
......
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